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PHYSICS

BOOKS - FULL MARKS PHYSICS (TAMIL
ENGLISH)

SAMPLE PAPER - 17 (UNSOLVED)

1. The total electric flux for the following

closed surface which is kept inside water .......... :


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qA1hpNPTL52I

C

. 8080
q

D.
16080

Answer: B

| =


https://dl.doubtnut.com/l/_qA1hpNPTL52I

I O Watch Video Solution I

2. A toaster operating at 240 V has a

resistance of 120€). The power is

A.400 W

B.2W

C.480W

D.240 W

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qA1hpNPTL52I
https://dl.doubtnut.com/l/_QmU76IPRnGfr

3. Which of the following has negative

temperature coefficient of resistance ?

A. Copper

B. Aluminium

C. Germanium

D. Iron

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QmU76IPRnGfr
https://dl.doubtnut.com/l/_TD8zWm0NZqwC

4. A wire of length | carries a current | along

the Y direction and magnetic field is given by

— B /-~ . 4
B = —(I +j—|—k)T. The magnitude of
V3

Lorentz force acting on the wire is
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Answer: A


https://dl.doubtnut.com/l/_TD8zWm0NZqwC
https://dl.doubtnut.com/l/_N4qp40zK1L7H

° Watch Video Solution

5. A moving charge is subjected to an external

magnetic field. The change in the kinetic

energy of the particle

A. increases with the increase in the field

strength

B. decreases with the increase in the field

strength

C. is always zero


https://dl.doubtnut.com/l/_N4qp40zK1L7H
https://dl.doubtnut.com/l/_ItQkgxNhYndJ

D.depends upon whether the field is

uniform or non-uniform.

Answer: C

o Watch Video Solution

6. If the magnetic monopole exists , then

which of the Maxwell's equation to be

modified ?
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Answer: B

o Watch Video Solution

7. In an electromagnetic wave the phase

%
difference between electric field E and

%
magnetic field B is .....


https://dl.doubtnut.com/l/_8lu1iL48HmXO
https://dl.doubtnut.com/l/_M40NKXadwsl8
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Answer: D

o Watch Video Solution

8. A rod of length 10 cm lies along the
principal axis of a concave mirror of focal

length 10 cm in such a way that its end closer


https://dl.doubtnut.com/l/_M40NKXadwsl8
https://dl.doubtnut.com/l/_XO5bNq4XIexV

to the pole is 20 cm away from the mirror. The

length of the image is,

A.2.5cm

B.5cm

C.10 cm

D.15 cm

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XO5bNq4XIexV

9. Which mirror is to be used to obtain a

paralle beam of light from a small lamp?

A. Plane mirror

B. Convex mirror

C. Concave mirror

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IsbfASjdF0a3
https://dl.doubtnut.com/l/_7WowPlWvVdFA

10. A photoelectric surface is illuminated
successively by monochromatic light of
A : N
wavelength A\ and 5 If the maximum kinetic
energy of the emitted photoelectrons in the
second case is 3 times that in the first case,

the work function at the surface of material is

hc
A —
A


https://dl.doubtnut.com/l/_7WowPlWvVdFA

Answer: D

o Watch Video Solution

11. Atomic number of H-like atom with

ionization potential 1224 Vforn=1is

Al

B.2

C.3

D.4


https://dl.doubtnut.com/l/_7WowPlWvVdFA
https://dl.doubtnut.com/l/_ykoFX84rdOrb

Answer: C

o Watch Video Solution

12. Which of the following transitions in

hydrogen atoms emits photon of highest

frequency?

A.n=1to n=2

B.n=2 to n=6

C.n=6 to n=2

D. n=2 to n=1


https://dl.doubtnut.com/l/_ykoFX84rdOrb
https://dl.doubtnut.com/l/_TviVN13WUZDe

Answer: D

o Watch Video Solution

13. The electrical is present in

A. AND

B. OR

C.NOR

D. NAND

Answer: A


https://dl.doubtnut.com/l/_TviVN13WUZDe
https://dl.doubtnut.com/l/_URC7NUFE6SMl

° Watch Video Solution

14. The ozone layer is present in

A. troposphere

B. stratosphere

C.ionosphere

D. mesosphere

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_URC7NUFE6SMl
https://dl.doubtnut.com/l/_iPIkyIdcg1Ur

15. "Ski wax” is an application of nano product

in the field of

A. Medicine

B. Textile

C.Sports

D. Automotive industry

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_iPIkyIdcg1Ur
https://dl.doubtnut.com/l/_Vp9cWkBTlurv

1. State Gauss's Law ?

° Watch Video Solution

2. State Kirchhoff's current rule.

° Watch Video Solution

3. What is meant by hysteresis?

| s


https://dl.doubtnut.com/l/_VAzgyvwZ9Q9t
https://dl.doubtnut.com/l/_vz8Sgnw1dvzX
https://dl.doubtnut.com/l/_YnZpcJwemhiS

¥ Watch Video Solution ]

4. A circular antenna of area 3m? is installed
at a place in Madurai. The plane of the area of
antenna is inclined at 47° with the direction
of Earth's Magnetic field. If the magnitude of
Earth's field at that place is 40773.9nT find the

magnetic flux linked with the antenna.

o Watch Video Solution

5. What is meant by Fraunhofer lines?


https://dl.doubtnut.com/l/_YnZpcJwemhiS
https://dl.doubtnut.com/l/_Y68JUXSK5YG8
https://dl.doubtnut.com/l/_IQOc4VgcW080

° Watch Video Solution

6. What is Rayleigh's scattering?

° Watch Video Solution

7. Aradiation of wavelength 300 nm is incident
on a silver surface. Will photoelectrons be

observed ?

° Watch Video Solution



https://dl.doubtnut.com/l/_IQOc4VgcW080
https://dl.doubtnut.com/l/_veqJmDRoYgAw
https://dl.doubtnut.com/l/_pjcUeIXLeqSz
https://dl.doubtnut.com/l/_36xcFw3dp4Ib

8. What are the constituent particles of

neutron and proton?

o Watch Video Solution

9. The given circuit has two ideal diodes
connected as shown in figure below. Calculate

the current flowing through the resistance R,

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_36xcFw3dp4Ib
https://dl.doubtnut.com/l/_93Nvsyq1HaoU

1. Consider a point charge +q placed at the
origin and another point charge -2p placed at
a distance of 9 m from the charge +gq .
Determine the point between the two charges

at which electric potential is zero.

o Watch Video Solution

2. Distinguish between drift velocity and

mobility.


https://dl.doubtnut.com/l/_HwmDW4rDFHzV
https://dl.doubtnut.com/l/_Vhl72X7eYA9x

° Watch Video Solution

3. Compare dia, para and ferromagnetism.

° Watch Video Solution

4. An inductor blocks AC but it allows DC . Why

? and How ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Vhl72X7eYA9x
https://dl.doubtnut.com/l/_AYa5Bav42T86
https://dl.doubtnut.com/l/_V9tm5pCsZZkp

5. Light travelling through tranparent oil
enters in to glass of refractive index 1.5. If the
refractive index of glass with repect to the oil

is 1.25, what is the refractive index of the oil?

° Watch Video Solution

6. What is a photo cell ? Mention the different

types of photocells.

o Watch Video Solution



https://dl.doubtnut.com/l/_llJ7aKpEyRZC
https://dl.doubtnut.com/l/_4F6VcNVZa2vl
https://dl.doubtnut.com/l/_eyq9NGg4t43m

7. Write down the draw backs of Bohr atom

model.

o Watch Video Solution

8.In the circuit shown in the figure , the input

voltage V; is 20 V, Vg E=0V and Vo E=0V. What


https://dl.doubtnut.com/l/_eyq9NGg4t43m
https://dl.doubtnut.com/l/_LS9kW1kror7W

are the value of Ig, I, 57

o Watch Video Solution

9. Distinguish between wireline and wireless

communication? Specify the range of


https://dl.doubtnut.com/l/_LS9kW1kror7W
https://dl.doubtnut.com/l/_AvlcVzDf0Gec

electromagnetic waves in which it is used.

o Watch Video Solution

1. Explain in detail Coulomb 's law and its

various aspects.

° Watch Video Solution



https://dl.doubtnut.com/l/_AvlcVzDf0Gec
https://dl.doubtnut.com/l/_4ZjgbrH0LzLi

2. Obtain the condition for bridge balance in

Wheatstone's bridge.

° Watch Video Solution

3. Discuss the working of cyclotron in detall.

° Watch Video Solution

4. An inductor of inductance L carries an

electric current i. How much energy is stored


https://dl.doubtnut.com/l/_quDnP9Crr5eG
https://dl.doubtnut.com/l/_AAC49SO5rzGq
https://dl.doubtnut.com/l/_bHAkmjYrOvBi

while establishing the current in it ?

o Watch Video Solution

5. Write down the properties of

electromagnetic waves.

° Watch Video Solution

6. Derive the equation for effective focal

length for lenses in contact.

o Watch Video Solution



https://dl.doubtnut.com/l/_bHAkmjYrOvBi
https://dl.doubtnut.com/l/_KaQaAUap4j6v
https://dl.doubtnut.com/l/_MR9klv4hCufd

7. What do you mean by electron emission ?
Explain briefly various methods of electron

emission.

o Watch Video Solution

8. Explain the )J. Thomson experiment to

determine the specific charge of electron.

° Watch Video Solution



https://dl.doubtnut.com/l/_MR9klv4hCufd
https://dl.doubtnut.com/l/_bLSEvGZlt4fE
https://dl.doubtnut.com/l/_NL25yg6HnBlc
https://dl.doubtnut.com/l/_O29EkCw2cNWj

9. Draw the circuit diagram of a half wave

rectifier and explain its working.

o Watch Video Solution

10. Elaborate on the basic elements of
communication system with the necessary

block diagram.

o Watch Video Solution
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https://dl.doubtnut.com/l/_nn6G9awXusfl

